				Cumulative	Cumulative
		Count	Percent	Count	Percent
hile a student at Dalton State	College, I was mainly	enrolled:			
Full-Time		2	66.67 %	2	66.67 %
Part-Time		1	33.33 %	3	100.00 %
	Total Responses	3	100%	3	100%
was currently enrolled in:					
Management		3	100.00 %	3	100.00 %
	Total Responses	3	100%	3	100%
ow long did it take you to com	plete your program at	Dalton St	ate College?		
2 years		1	33.33 %	1	33.33 %
3 years		1	33.33 %	2	66.67 %
4 or more years		1	33.33 %	3	100.00 %
	Total Responses	3	100%	3	100%
hat are your immediate plans	after graduation?				
. Obtain further education		2	66.67 %	2	66.67 %
. Obtain full-time employment (g	o to question 11)	1	33.33 %	3	100.00 %
	Total Responses	3	100%	3	100%
your plans are to continue you	ur education, do you p	olan to eve	entually		
(Not Answered)		1	33.33 %	1	33.33 %
b. Obtain a Bachelor's degree?		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
How well did Dalton State Colle	ege prepare you for co	ontinuing	your		
ucation?					
(Not Answered)		1	33.33 %	1	33.33 %
a. Extremely well		1	33.33 %	2	66.67 %
		1	33.33 %	3	100.00 %
o. More that adequately				3	100%
. More that adequately	Total Responses	3	100%	5	
	-	3	100%	5	
What is your current employm	ent status?	3 1	100% 33.33 %	1	33.33 %
What is your current employmed c. Working part-time at the job I h	ent status?				33.33 %
 b. More that adequately b. What is your current employment c. Working part-time at the job I has graduated d. Working full-time at the job I has a second s	ent status? ad before I				33.33 % 100.00 %

15. Check the ONE method which best characterizes the way you obtained your job:

g. Direct application 1 33.33 % 2 66	33 % 67 % 00 %
g. Direct application 1 33.33 % 2 66 h. Answered want as/job listing 1 33.33 % 3 100	67 %
g. Direct application 1 33.33 % 2 66 h. Answered want as/job listing 1 33.33 % 3 100	67 %
h. Answered want as/job listing 1 33.33 % 3 100	
Total Responses 3 100% 3	
	100%
16. What is your starting salary?	
a. Under \$25,000 1 33.33 % 1 33	33 %
	67 %
	00 %
Total Responses 3 100% 3	100%
17. How closely related is your job to your degree major?	
a. Highly related 1 33.33 % 1 33	33 %
	67 %
d. Slightly related 1 33.33 % 3 100	00 %
Total Responses 3 100% 3	100%
b. Somewhat important 1 33.33 % 2 66	33 % 67 %
c. Not important 1 33.33 % 3 100	00 %
Total Responses 3 100% 3	100%
9. In your opinion, how difficult was it to obtain a job in your degree major?	
	33 %
(Not Answered) 1 33.33 % 1 33	33 % 00 %
(Not Answered) 1 33.33 % 1 33	
(Not Answered) 1 33.33 % 1 33 c. Average 2 66.67 % 3 100 Total Responses 3 100% 3	00 %
(Not Answered)133.33 %133c. Average266.67 %3100Total Responses3100%320. How well did your experience at DSC prepare you for your job?	00 %
(Not Answered) 1 33.33 % 1 33 c. Average 2 66.67 % 3 100 Total Responses 3 100% 3 0. How well did your experience at DSC prepare you for your job? 1 33.33 % 1 33	00 % 100%
(Not Answered) 1 33.33 % 1 33 c. Average 2 66.67 % 3 100 Total Responses 3 100% 3 CO. How well did your experience at DSC prepare you for your job? (Not Answered) 1 33.33 % 1 33 a. Fully prepared 1 33.33 % 2 66	00 % 100% 33 %
(Not Answered) 1 33.33 % 1 33 c. Average 2 66.67 % 3 100 Total Responses 3 100% 3 20. How well did your experience at DSC prepare you for your job? (Not Answered) 1 33.33 % 1 33 a. Fully prepared 1 33.33 % 2 66	00 % 100% 33 % 67 %
(Not Answered) 1 33.33 % 1 33 c. Average 2 66.67 % 3 100 Total Responses 3 100% 3 20. How well did your experience at DSC prepare you for your job? (Not Answered) 1 33.33 % 1 33 a. Fully prepared 1 33.33 % 2 66 b. Moderately prepared 1 33.33 % 3 100 Total Responses 3 100% 3	00 % 100% 33 % 67 % 00 %
(Not Answered) 1 33.33 % 1 33 c. Average 2 66.67 % 3 100 Total Responses 3 100% 3 20. How well did your experience at DSC prepare you for your job? (Not Answered) 1 33.33 % 1 33 a. Fully prepared 1 33.33 % 2 66 b. Moderately prepared 1 33.33 % 3 100 Total Responses 3 100% 3 21. How satisfied are you with your job placement?	00 % 100% 33 % 67 % 00 %

				Cumulative	Cumulative
	(Count	Percent	Count	Percent
low optiofied are you with ye	ur ich placement?				
1. How satisfied are you with yo	our job placement?				
	Total Responses	3	100%	3	100%
management principles					
4		1	33.33 %	1	33.33 %
5		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
personnel administration					
4		1	33.33 %	1	33.33 %
5		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
employee relations					
4		1	33.33 %	1	33.33 %
5		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
erformance evaluation					
4		1	33.33 %	1	33.33 %
5		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
ecision making					
4		1	33.33 %	1	33.33 %
5		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
ccounting					
3		1	33.33 %	1	33.33 %
4		1	33.33 %	2	66.67 %
5		1	33.33 %	3	100.00 %
	Total Responses	3	100%	3	100%
emonstrate the ability to be s	uccessfully employed ir	n the bus	iness field.		
Agree		1	33.33 %	1	33.33 %
Strongly Agree		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%

				Cumulative	Cumulative
	C	Count	Percent	Count	Percent
mmend the program to othe	ers based on my satisfa	action wi	th the quality o	of	
program.					
Agree		1	33.33 %	1	33.33 %
Strongly Agree		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
pect that my employer will ind xpected level.	licate satisfaction with	my abilit	ty to perform at	t	
Agree		1	33.33 %	1	33.33 %
trongly Agree		2	66.67 %	3	100.00 %
-	Total Responses	3	100%	3	100%
ality of instruction by faculty					
Good		1	33.33 %	1	33.33 %
Excellent		2	66.67 %	3	100.00 %
-	Total Responses	3	100%	3	100%
ademic advising					
Good		1	33.33 %	1	33.33 %
Excellent		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
rity of program requirements					
Good		1	33.33 %	1	33.33 %
Excellent		2	66.67 %	3	100.00 %
-	Total Responses	3	100%	3	100%
availability of faculty advisor					
Excellent		3	100.00 %	3	100.00 %
-	Total Responses	3	100%	3	100%
reer counseling advising					
Fair		1	33.33 %	1	33.33 %
xcellent		2	66.67 %	3	100.00 %
-	Total Responses	3	100%	3	100%
ality of instruction in laborator	ries				
Good		1	33.33 %	1	33.33 %
Excellent		2	66.67 %	3	100.00 %

				Cumulative	Cumulative	
		Count	Percent	Count	Percent	
quality of instruction in laborator	ies					
- quanty of monutation in laborator						
	Total Responses	3	100%	3	100%	
accessibility of faculty						
Good		1	33.33 %	1	33.33 %	
Excellent		2	66.67 %	3	100.00 %	
-	Total Responses	3	100%	3	100%	
. availability of needed courses						
Good		1	33.33 %	1	33.33 %	
Excellent		2	66.67 %	3	100.00 %	
-	Total Responses	3	100%	3	100%	
range of courses from which to c	hoose					
Good		1	33.33 %	1	33.33 %	
Excellent		2	66.67 %	3	100.00 %	
-	Total Responses	3	100%	3	100%	
information about course require	ements					
Good		1	33.33 %	1	33.33 %	
Excellent		2	66.67 %	3	100.00 %	
-	Total Responses	3	100%	3	100%	
. testing/grading system						
Good		1	33.33 %	1	33.33 %	
Excellent		2	66.67 %	3	100.00 %	
-	Total Responses	3	100%	3	100%	
. class size						
Good		1	33.33 %	1	33.33 %	
Excellent		2	66.67 %	3	100.00 %	
-	Total Responses	3	100%	3	100%	
n. classroom and teaching facilitie	9S					
Good		1	33.33 %	1	33.33 %	
Excellent		2	66.67 %	3	100.00 %	
Exoclicit						

n. relevance of classes to career goals/objectives

				Cumulative	Cumulative
		Count	Percent	Count	Percent
a. relevance of classes to car	eer goals/objectives				
Good		1	33.33 %	1	33.33 %
Excellent		2	66.67 %	3	100.00 %
	Total Responses	3	100%	3	100%
5. Overall, how would you ra program received at Dalton St	-	n with the	MANAGEMEN	T	
a. Very Satisfied		2	66.67 %	2	66.67 %
b. Satisfied		1	33.33 %	3	100.00 %
		1	00.00 /0	5	100.00 %
	Total Responses	3	100%	3	100.00 %
26. Would you recommend the MANAGEMENT?	-	3	100%	3	
26. Would you recommend the	-	3	100%	3	
26. Would you recommend the MANAGEMENT?	-	3 o would w	100% ant to major in	3	100%
26. Would you recommend the MANAGEMENT?	e program to someone wh	3 o would w 3 3	100% ant to major in 100.00 % 100%	3 3	100% 100.00 %
26. Would you recommend the MANAGEMENT? a. Yes 27. If you could do it all over a	e program to someone wh	3 o would w 3 3	100% ant to major in 100.00 % 100%	3 3	100% 100.00 %